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- HURWICZ:  = 0.6  

Min Max                                 
                    

80 200 80  160  200   

140 260 180  260  140   

100 280 280  100  120   

360 400 360  380  400   

( ) = 0.6(80) + 0.4(200) = 128  

( ) = 0.6(140) + 0.4(260) = 188  

( ) = 0.6(100) + 0.4(280) = 172 

( ) = 0.6(360) + 0.4(400) = 376 

   

- SAVAGE 

 

Max Lij                                 
                    

80 0  60  80   

160 100  160  20   

200 200  0  0   

280 280  280  280   

)ijMax L(Min     

0.75 

0.75 

0.75 

0.75 

0. 5 

0. 5 

2 



  )10  ( 
1-    

951=300)-=(0.4×500)+(0.35×200)+(0.25×  1EMV 

.5 232=(0.4×300)+(0.35×250)+(0.25×100)=  2EMV 

=(0.4×120)+(0.35×120)+(0.25×120)= 120  3EMV  

 . 

2-    

-  1 )( 1I  

 
)1/IjP(S  

 
)j)* P(Sj/S1P(I  

 
)j/S1P(I  

  
)jP(S  

  

jS 

0.6667  0.24 0.6  0.4  1S  

0.1944  0.07  0.2  0.35  2S  

0.1389  0.05  0.2  0.25  3S  

1  0.36    1    

  

-  2 )( 2I 

 
)1/IjP(S  

 
)j)* P(Sj/S1P(I  

 
)j/S1P(I  

  
)jP(S  

  

jS 

0.2963  0.12 0.3  0.4  1S  

0.5185  0.21  0.6  0.35  2S  

0.1852  0.075  0.3  0.25  3S  

1  0.405    1    

-  3 )(3 I:  

 
)1/IjP(S  

 
)j)* P(Sj/S1P(I  

 
)j/S1P(I  

  
)jP(S  

  

jS 

0.1702  0.04 0.1  0.4  1S  

0.2979  0.07  0.2  0.35  2S  

0.5319  0.125  0.5  0.25  3S  

1  0.235    1    

1. 5 

0. 75 

0. 75 

0. 75 



 

3-    

-   
330.56=300)-×1389×200)+(0.1944×500)+(0.6667=(0. 1EMV 

.5 262×100)= 1389×250)+(0.1944×300)+(0.6667=(0. 2EMV 

×120)= 120 1389×120)+(0.1944×120)+(0.6667=(0. 3EMV  

    
  
-   

6.2991=300)-×1852×200)+(0.5185×500)+(0.2963=(0. 1EMV 

5 03.723×100)= 1852×250)+(0.5185×300)+(0.2963 =(0. 2EMV 

×120)= 120 1852×120)+(0.5185×120)+(0.2963=(0. 3EMV  

      
  
-   

14.89- =300)-×5319×200)+(0.2979×500)+(0.1702=(0. 1EMV 

5 72.178×100)= 5319×250)+(0.2979×300)+(0.1702=(0. 2EMV 

×120)= 120 5319×120)+(0.2979×120)+(0.1702=(0. 3EMV  

  

  

4-   

EMV* = 232.5 

EMVWI = 330.56* 0.36 + 237.035*0.405 + 178.21*0.235 = 256.88 

EVPI= 256.88 – 232.5 = 24.38 

24.38    5000   
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